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'gz(f(x):m—zj

4 1 s
1= f(x)= T (2x°+5)

No04 =
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8= (fx)=(x—4) (Yx - 3))
2x7+3x5J

10= [f(x) 7
X

x—4

2= (f(x) =(3x +4xh [H—ID

d=[f(x)=5x-2x"-4x"+2,a=2]

.2:[f(x)=%—5x+4 x,azl}
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Diff02 for No.1l2674
d=(f(x)=x"-3x+1)

2=(flx)=3x"-2)
NoO1 = '3:(&”:2) :
X

I=[f(x)=5x-4,a=6]
_ 5
» No02 .2={f(x)=;,a=3

(1/3)

L 4=(f(x)=6x ) |
_ _ C ([P ]
I=(f(x)=x*-3x+1) 2=(f(x)=3x"-2) Vv
5 4 3 2 152, 2 S
I=f(x)=3x+x +2x -3x") 4= ﬂx):6x +5x —3xj sl
.5=[f(x)=4ﬁ+%—5xJ .6=(f(x)=ﬁ+£””+£”“+ﬁ} i
No03 = , b * ¥ o a
T=(f(x)=(4x*+3x-2)(x*+2x)) 8=(f(x)=(x+1) (4x +3)) .
9:(f(x):3x+2j Ioz(f(x):3x5——2x h
) 4x-1 ) N[; @
]]:(f(x):{L+Lj(5x2+2)J ]2:(f(x)=(3x—2x3)[ﬁD M
. 2 i ' x+1 l;

d=[f(x)=3x+x"+2x-3x% a=-2]

No04 = 2
2=|f(x)=44x+—F7—=-5x,a=1
Al x
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d=(f(x)=x"—4x+3)
2=(flx)=5x"+4)

o-2) |
d=f(x)="—"

X
4=(fx)=5x) |

2=(f(x)=5x"+4)

53, 5
A=f(x)=—x"+"x ——x
4 4 6

1 1
TG T (53 [
X X

d=[f(x)=4x-1,a=6]

, No02 =

NoOI = 2
¢ .2{f(x):—2,a:1
X

1
|
I

d=(f(x)=x"—4x+3)

3=(f(x)=4x"-3x"+2x-1)

.5=(f(x)=%+2 X +xJ

I
[
L
L

1
1
1

(3/5)  (1/5)
+ X

6= (f(x) =X

301 s
H=| ) =| S+ (55+2)

No03 = ) )
T=(fx)=(2+3x+1) (55 +4x)) 8=(f(x)=(4fx + 1) (x+4))
9_(f _3x—2j 10—[f 3x7-2x
2= =15 A0=|flx) = Jx

x—5

2= (f(x) =(4x° +3x%) [H—4D
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A=|f(x)=—"=+2 +x,a=4
NoOd — {(x) «/; X +Xx,a }

7 6 3
2=[f(x)=4x -3x +2x —-1,a=2]
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Diff02 for No.14247
d=(fx)=3x"+2x+1)

2=(flx)=2x"+3)
No0I = ( 3) :
d=f(x)="—"
X

4=(fx)=64x) |

A=[f(x)=6x-1,a=3]

No02 = 3
» o .2={f(x):—2,a:1
X

_ . Pl ]
d=(f(x)=3x"+2x+1) 2=(f(x)=2x"+3) Vv
B=(fx)=5x"+2x"+ ¥ +5x) .4:(f(x)=gx5—§x3—§j g

.5=(KX)=x4fj%ﬂ—2J;j .6=(ﬂx)= (;5)+ (;6y+;1w)+xw/ﬁJ ——ji——
No03 = ) , * * . a
T=(fx)=(2x +3x+5)(3x° +2x)) 8=(fx)=(x+ 1) (4x =2)) .
9—(f - x+4j 10 1y - 22X h
9= (x)—4x_5 A0=|1(x)= J; @
]l—(f —[i iJ 2% 1} ]2—(f =(x=5x" {MD M
A= (x)= x4+x (2x"+1) A2={f(x)=(x"-5x") 1 U
I A

3
d=| fix)=x+—=-24/x,a=4
No04 = {(x) Y }

7 6,2
2=[f(x)=5x +2x +x +5x,a=-2]
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